FaelE mm/IFERELRER

=\ o FR21E10F158 (K)
7/#’/7 [60mH] BEE Fasis
55T 1073 SERF 109
No | B ] TRA K% o [z [W]EE] Zha E % 8% | B2
1] 1 | =i ZE % 10.2 [x&% 1] 1 [ H e 10.7 |xa%
2 2 [ ARKXICER f@ = 10.3  [x2s+ 21 2 [ = = E EE 11. 1
3| 3 | K H WE A 10. 4 31 3 [ ® r ZE s 11.2
1] 3 |Essmm| Ak EBE 10.4 41312 % R EF 11.2
5| b [AHE £ RA 10.5 515 [l T AfE T 11.3
6] 6 &8 B XE (&S 10.7 61 6 [Nl & =H I 11.4
1 7T [ FTZEE B BE 10.8 716 [ A A m™ A 11.4
8| 8 [& o 55 RE 10.9 81 8 [ AXILH FE #E 11.5
9l 9 I KX E F&E Fsh 11.0 91 9 | &aHimE g Dan 11.6
o[ 10 [ = ZH L 11.1 0] 9 & H& Afitil 11.6
i1 [ = F BB BE 11.2 il - BEHEERIE 1.7
211 - = SSPN 11.2 212X H®H 7l FniE 11.8
BT [E  #& EE Za 11.2 Bl 12X HBH&E M E 11.8
14 14] 12 | fIESHW XEEHF 11.8
15 15

6EBF 9Fb7 6ERF 10805
No. [ TERL | Fhx% T i 5k | B2 No.[TERL| Fiz T - AlEd
1| 1T | FT%E AH HEH 9.6 |xa# T[T [8 & A3+ BEH 10.8
2] 2 [— = Br)Il EEBA 10. 1 2 2 [ & B ES 11.0
3 3 [ & I 10.2 33 [— = EX BE 11.2
4] 3 [ & ik AEE 10.2 413 1B & PHBEEF 11.2
51 3 [EnFits] HE B 10.2 51 5 £ 3 4 Mo RIE 11.3
6] 6 [H FE AR 10. 3 6 5 % NE HE 11.3
1] 6 | £ B pRRE K 10.3 11 7 | 1h & 1 X #HE 11.4
8| 6 | et BAR Kt 10.3 8| 1 |&na#M A H4h 11.4
9 6 [ X H BR 10.3 9] 7 | HEES® BiEHHY 11.4
10] 10 [ HESH i BB 10.5 10 10 [ KA X ™ Bl % 11.5
IHNENED L0 HE 10. 6 1M [E B TH BE 11.6
12012 |&F 7 B IEA 10.7 11 [&8 =B 2 T 11.6
B[ 12 [& & He %K 10.7 13

14 14

15 15




